Lactura 47

Tuesday, April 28, 2015 8:05 AM

Now study
$$E(ix)$$
, $x \in \mathbb{R}$.

 $Paca(l) \in \{2\} = \sum_{k=0}^{\infty} \frac{z^{k}}{k!} = 1 + z + \frac{z^{2}}{2!} + \frac{z^{3}}{3!} + \cdots$
 $Vote$
 $(ix)^{k} = i^{k}x^{k} = \begin{cases} ix^{k} & \text{if } k \equiv 1 \pmod{4} \\ -ix^{k} & \text{if } k \equiv 2 \pmod{4} \end{cases}$
 $x^{k} & \text{if } k \equiv 3 \pmod{4}$
 $x^{k} & \text{if } k \equiv 0 \pmod{4}$
 $x^{$

$$Pe\left(\pm (ix) \right) = 1 - \frac{x^{2}}{2!} + \frac{x^{4}}{4!} - \frac{x^{6}}{6!} + \frac{x^{8}}{8!} - \dots$$

$$= \sum_{k=0}^{\infty} (-1)^{k} \frac{x^{2k}}{(2k)!} = C(x)$$

$$Im(E(ix)) = x - \frac{x^{3}}{3!} + \frac{x^{5}}{5!} - \frac{x^{7}}{7!} + \cdots$$

$$= \sum_{k=0}^{\infty} (-1)^{k} \frac{x^{2k+1}}{(2k+1)!} = 5(x)$$

$$C(-x) = C(x), \qquad S(-x) = -S(x)$$

$$E(-ix) = C(-x) + i S(-x)$$

$$= C(x) - i S(x)$$

$$= \overline{C(x) + i S(x)}$$

$$= \overline{E(ix)}$$

Tuesday, April 28, 2015

The soay, April 28, 2015 8:21 AM
$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right) \cdot \left(C(x) - i S(x) \right)$$

$$= \left(C(x) + i S(x) \right)$$

$$= \left(C(x)$$

$$\Rightarrow$$
 -1 \leq $C(x)$, $S(x) \leq 1$.

$$(E(ix))' = E'(ix) \cdot i = E(ix) \cdot i$$

$$= i C(x) - 5(x)$$

$$\left(C(x) + iS(x)\right)' = C'(x) + i \cdot S'(x)$$

$$\Rightarrow C'(x) = -S(x)$$

$$\Rightarrow |C'(x) = -\lambda(x)|$$

$$5'(x) = C(x)$$

The There exists unique
$$s \in (0, \sqrt{3})$$
 s.(.
$$E(is) = i \quad (so \quad C(s) = 0, \quad S(s) = 1).$$

so IVT
$$\Longrightarrow \frac{1}{5} \in (0, \sqrt{3})$$
 s.t. $C(s) = 0$

②
$$C^2 + 5^2 = 1$$
 \Rightarrow $S(s) = -1$

(C(x), S(x)) $Is \Theta = x???$

class notes Page 216

Note that
$$\Theta(E(is)) = \Theta(i) = \frac{\pi}{2}$$
.

 $S(s \cdot t) > 0$ for $t \in [0,1]$ { Check via prover surius!}

1 function of t for $t \in \mathbb{R}$
 $(C(st))' = -sS(st) < 0$ for $t \in [0,1]$

so $C(st)$ is decreasing for $t \in [0,1]$

from $C(s \cdot 0) = C(0) = 1$ to $C(s \cdot 1) = C(s) = 0$.

Thus $(6/c C^2 + s^2 = 1)$ we must have $S(st)$ is increasing from $O(t + t \in [0,1])$.

 $E(ist)$ in first quadrant for $t \in [0,1]$.

I due: Show angle of $E(ist)$ is $\frac{\pi}{2} t$ for t rational. Then use continuity to deduce that the same is true for all real t .

In, $n \in \mathbb{Z}$, $n \neq 0$ $E(is \cdot m/n) = E(is \cdot m/n)$
 $E(ism/n)$ has angle in times angle of $E(ism/n)$.

Angle of E(is(n)) is angle of $E(is)^{ln}$ which is $(\pi/2)/n$ \Rightarrow angle of E(is m/n) is $m \cdot (\pi/2)/n$ $= \frac{\pi}{2} \cdot \frac{m}{n}$ Thus for $t \in \mathbb{R}$, $E(is \cdot t)$ has angle $\frac{\pi}{2} \cdot t$